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DIPLOMA IN ELEMENTARY EDUCATION (D.ELED.) 

Term-End Examination, 2019 

BES-009 : TEACHING OF MATHEMATICS FOR 
THE PRIMARY SCHOOL CHILD 

Time : 3 Hours] 	 [Maximum Weightage : 70% 

Note : All questions are compulsory. All questions carry equal 

weightage. 

1. Answer the following question in about 600 words : 

Why evaluation of achievement is necessary in 

teaching ? Discuss the different methods used for 

evaluation of achievement of students. 

OR 

Discuss the mistakes committed by children while solving 

problems related to addition of time. As a Primary teacher, 

suggest an activity to overcome those mistakes. . 

2. Answer the following question in about 600 words : 

What do you mean by Algorithm ? How will you convince 
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children about the algorithm for addition of fractions ? 

Discuss with an example. 

OR 

Describe the different types of word problems related to 

subtraction. Give suitable examples. 

3. 	Answer any four of the following questions in about 150 

words each : 

(a) "Errors are useful in learning mathematics". 

Discuss. 

(b) What is 'One-to-One- Correspondence' ? 

(c) Suggest an activity to teach the concept of 'Mixed 

Fraction'. 

(d) How will you introduce the concept of 

Multiplication of fraction to your learners ? 

(e) Differentiate between Closed and Open figures. 

(f) What do you mean by 'Conservation of Weight'? 

How will you teach 'Conservation of Weight' 

through an activity ? 
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4. 	Answer the following question in about 600 words : 

As a Primary teacher, suggest activities to teach the 

various situations (contexts) involving multiplication to 

children of primary classes. 
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